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Question Number : 1 Question Id : 27028216637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which 1s known as Art and Science of Teaching?
B0 B 8¢, FTREH wohth

Options:

Pedagogy
| @ DEEA

Andragogical
Do|EtEES

Apedagogical
3. ® shoedss

Instruction
s

Question Number : 2 Question Id : 27028216638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This describes mtended results of nstruction rather than the process

of mstruction
=6 &Sdar (18 K08 e Hmren D606

Options :
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Sympathy to students
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Objectives of Teaching
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Teaching Aids
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Teaching Props
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Question Number : 3 Question Id : 27028216639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In this stage learners are self motivated and self directed
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Options:

Adolescence
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Pre-primary
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Question Number : 4 Question Id : 27028216640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
If few students disrupt class the effective way to control this indiseipline 1s by:
Eosfood Dorgthen S5K8R PoriBR, S EHegmrrriend) aboldnddn SEa
Options :

Talk to parents
SDE0|H0E” SrériHht

Punish them physically
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Give them a Memo
=1 Emsf:ﬁm:natgj@

Change seats
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Question Number : 5 Question Id : 27028216641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



An elective course chosen generally from an unrelated

discipline/subject in CBCS system
1s termed as:

CBCSs #586® sSomooda #vigo / diidho ok 28 20ds artsag

Options :

Core course
1. % 86 5%y

Project work
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Generic Elective
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Discipline specific Elective
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Question Shuffling Allowed :
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Question Number : 6 Question Id : 27028216642 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This refers to the degree to which research findings can be applied

to larger population
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Options :

Validity
| % s

Reliability
DEFHDADHS

Generalizability
3 ¢ FTeSeEbn

Credibility.
S

Question Number : 7 Question Id : 27028216643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In which type of Research it 1s more about moving from “General Population to Particular”
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Options:

Deductive
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Question Number : 8 Question Id : 27028216644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following scale is used to assign events or objects into discrete categories
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Options :
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Question Number : 9 Question Id : 27028216645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which phase in Research 1s meant for cleansing data and

improving the quality of data ?
56556 % 55 Serodtn HIFHEDHLH, HHDEIHELS SHEPHHERD

Options:

Editing
HoBes

Coding
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Tabulation
HEBSE

Analysis
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Question Number : 10 Question Id : 27028216646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which is a software application which enables a Web to display and interact with text, images.
videos. music and other information types by accessing a web page ?
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Sub-Section Number : 3
Sub-Section Id : 2702821221
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 27028216647 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answer the Questions from 11 to 15

Have you ever been at sea in a dense fog. when it seemed as if a tangible white darkness
shut you . and the great ship. tense and anxious. groped her way toward the shore
with plummet and sounding line. and you waited with beating heart for something to
happen? I was like that ship before my education began, only I was without compass
or sounding-line, and had no way of knowing how near the harbor was."Light! Give
me light!" was the wordless ery of my soul. and the light of love shone on me in that
very hour.
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Sub questions

Question Number : 11 Question Id : 27028216648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The phrase ‘tangible ’ means
‘er0Ran®’ @0 VI V8 e@do

Options :

unreal
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visible
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1maginary
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Question Number : 12 Question Id : 27028216649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The author compares her childhood waith the

SrIoes e erered)) s 06
Options :
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Question Number : 13 Question Id : 27028216650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The phrase- ‘| was without compass,” means:
B AEFHD) BROT® GO ), ©@F G058 @0

Options :

educated
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poor
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directionless
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Question Number : 14 Question Id : 27028216651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

The synonym for the word ‘harbor’ in the above passage is :
2 (DEGR0S s T SHF0N0: @ DTPAE DT 0NNE0

Options :

port
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Question Number : 15 Question Id : 27028216652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The first three lines of the above passage reflect .
) D830’ Jched e Hodden 1232 08T 0N

Options :
apprehension
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pity
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sorrow
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empathy
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Sub-Section Number : 4
Sub-Section Id : 2702821222
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 16 Question Id : 27028216653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Shaking the hands of a person in a country, where such an act is
disrespectful is a

______barrier.
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Options :
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environmental
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emotional
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Question Number : 17 Question Id : 27028216654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

errors can occur when a wrong word is typed

in an e-mail and theintended message is

misrepresented.
-0V $53) Q) VD TR I HOO GBIV NOBFO

53 )T ArD0TI2EN0) 1 STaren H0BNOTINTR
Options :
feedback
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channel
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decoding
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Question Number : 18 Question Id : 27028216655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

messaging refers to the pitch, flow and tone of the
voice.
D0TH0 @RA D380 AINE) DB, (a0 OO
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Options :

kinesthetic
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Question Number : 19 Question Id : 27028216656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In the place of work, people respond to ideas that are
presented with

3BT B0, & 290000 eSO (Hasen
1206300 JOAT

Options :

anger
. 50

emotion
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prejudice
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confidence
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Question Number : 20 Question Id : 27028216657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

___listening can help you address conflict or problems within

the team

29083065 D051 BT 020D DBALBOITRE

NSB0 NBY HFFANJRDEN0OD

Options :

mindful
1 ¢ ERMe

unrecep tive

, % OSSBOIBA

passive
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partial
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Question Shuffling Allowed :

Is Section Default? :
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null

Question Number : 21 Question Id : 27028216658 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0
3 2150 i 8

Options:

24

Question Number : 22 Question Id : 27028216659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 23 Question Id : 27028216660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

A worker reaches his workplace 15 minutes late by walking at 4
km/ph from his house. The next day he increases his speed by 2
kmph and reaches m time. The distance from his house to his work

place 1s
2,8 5205068 ¢5c) 2063 D0 K0&%) 4 8.50 Jod IGD 15 Aaren
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Options :
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Question Number : 24 Question Id : 27028216661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

If the incomes of A and B are i the ratio of 3: 4 and their
expenditures in the ratio of 4 : 5. The ratio of their savings, given
that B saves a third of his mcome are

A 0G50 B 330E) estr0sPen 3: 4 AR & 0G50 0 D JED 4: 5
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Options:

Question Number : 25 Question Id : 27028216662 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

If mean and mode of a distribution are 6 and 8 respectively, then

the median 1s
2,8 0272300000 O3NE) AT Eaddad) (f(1E1) DO 2TVFEN 0SB
6 DA 8 OB, DS Hehadd

Options:
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Sub-Section Number : 6
Sub-Section Id : 2702821224
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 27028216663 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (26 to 30)

Question Label : Comprehension



The questions 26 to 29 are based on the following data.
26 00 29 1294) 00 1808 ST 0450 eSO GOEFON

Four persons of four professions are seated in a row, such that the
Professor 1s to the immediate left of Anup. Mobhit 1s adjacent to the
Doctor. The Busmessman 1s as many places to the left of Priyanka
as Manmohan 1s to the right of Priyanka. One of the persons is a
Lawyer.
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Sub questions

Question Number : 26 Question Id : 27028216664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Who 1s the lawyer?
P L0 )adBD?

Options:

Anup

| SR

Mohait
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Manmohan
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Priyanka
oMol
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Question Number : 27 Question Id : 27028216665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Who i1s seated between Priyvanka and Anup?
2205 0% OO @R DG Ded Bt yooe) o7

Options:

Manmohan
3SR

Mohit
5 % TS

canot be determined
QONOTIDEED

None of these
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Question Number : 28 Question Id : 27028216666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s true?
Bob srggEned® 26 Jeghde ?

Options :

Mohit 1s not the businessman
g TS fardaed SN

Manmohan 1s the Professor
5 @ NS PTS (DO

Priyanka is a lawyer

% OP0E &0

Anup 1s a Doctor
e 350

Question Number : 29 Question Id : 27028216667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

From the statements below, all the following are true except

&He arggtne oA, ) WASDSDY DB

Options :



Lawyer 1s not seated to the left of Doctor.
3508 DBeNB YN eroHD 8 3B.

1. %

Professor sits between Doctor and Lawyer.
2350 DO ePAND NGNS 1P N0 Srdy yoor) .

2. ¢
Manmohan 1s to the left of Lawyer and to the immediate right
of Mohit .
N 37D eFANTE DN IN OGN FrarSE OATYS
3 % €500 &.

Mohit and Doctor are seated adjacent to each other.

. J0%ar @ SO0 @E0 LEOTED 108 Srdh yar) .

Question Number : 30 Question Id : 27028216668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In a certamn code language. if the word ‘"MENTION’= 49 and
‘NEUROTIC’ = 64 , then

‘MARVELLOUS’ =?

2.8 DO §& arA, H¢90 MENTION = 49 o000 ‘NEUROTIC' = 64 5008,
@))%  MARVELOUS' =?

Options :
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Sub-Section Number : 7
Sub-Section Id : 2702821225
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 27028216669 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (31 to 35)

Question Label : Comprehension



Note: Answer the questions 31 to 35 based on the data provided below.
HehQ¥: Ahe) 0H0DS ST 04N eS0T 31 DO 35 (D908 NITFTTTre
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The gross mvestment of Life Insurance Corporation of India in
different sectors 1s given i the following table.

DN B0 B 280 STI0NS &9 20805F T Are DEYd
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S.No. | Investment Sector Amount. (crores)

P8 Sotfo o, FL ')

1 | Socially oriented sector ( Plan) 458
s estrded 00 (DT DY)

2 |Socially oriented sector (Non plan) 107
ATSrEE esirheb SO0 (PP PIY)

3 Private sector 183
| 298 Gotio

5 | Central Govt. Securities 454
30185 152065 50 DEF:BESen

6 | State Govt. Sector 110
9 (w2hed 50 Soffo

7 | Securities Guaranteed by Govt 227
92065 £0 370 20N DEreOE3en

Sub questions

Question Number : 31 Question Id : 27028216670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The percentage of gross investment in state government securities nearly
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Options :
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Question Number : 32 Question Id : 27028216671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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The magnitude of angle COF i1s nearly
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The investment in private sector 1s nearly  percent higher than
the investment in state government securities.
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The ratio of the area of circle above COF to the area of the circle
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GUI Stands for .......
A d5%0. © =5
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Graphical User Interface

| o (28 creb 2065 2%

General Usage of Internet
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What is the mternet?
@aéﬂ:&m oS S350 ?

Options :

Programming language
(S¥|reoorDd grd

Network connecting computers all over the world

5505080 6l Sohy 5 Send 36555
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, x BEoSDD SR St Bro
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Skype
. B9

Zoom
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Meet

Eoons

Podcast
, P& 5§ (wosgs 55 @)
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The program 1s intended for Tertiary Education through partnerships
with State Universities and Colleges to enhance the quality of ICT m

education 1s.....
g 6° b HerdEd) Do o DRI Erded® geK kg oo #Bad D5
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Options :

eQuality Program
., 3500 DS
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5 % a MR

Digital Media Arts Program
Esbd Holair b [©frro
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PheDNET
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E-Governance 1s technology to provide................
B- SBFreS BIOS D8 FososE

Options :
A platform for exchanging information

HEPerorl) SrE)EHODH 2.8 308
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DI0H wobotHbhd a8 I08
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Which of the following was not a Millennium Development Goal?
& [Bob 08 26 OIHD ediHh oo sH?

Options :

Improve maternal health
Sre)ey eBirpEn BrhHt

Ensure environmental sustainability
HoegHe KoFHED GOy HPHe:



Eradicate extreme poverty and hunger

3 % &0 258%0, D é@c}:ﬁjé}

Ensure healthy lives and promote well-being of all at all ages

w8y ZdEn Gothidly, ) Sabie wolb [Bard) [Bienrstiht
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Which of the following types of natural hazards have the highest

potential to

cause damage to humans?
& Q1D BEwe [HE)S Qﬁééﬁ@éﬁ 2B SN wod P33 Dk Rogra¥ Soth?
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Earthquakes
1 % ZirEoaren

Forest fires
eofia) @ﬁcl

Volcanic eruptions
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Droughts and Floods
8B, K
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Carbon dioxide 1s primarily called a greenhouse gas because of ..................
ﬁ“@@ﬁn& AN [Brrdorr iwaér‘%eéﬂ Trding) ©oth%). JOLIENT sersressssssssanes

Options :

Traps heat
B8 HtnEolnod

Traps light

se0fd) ﬁﬁ}gﬁ"oéﬁo&

2_ w
Traps warm currents
S8 [Harstord HenEPotnod
3. % =
None of the above
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Solar energy is .......cvveee.
Derth OS50 e

Options :

Non Renewable source
SHXBe3aHBD 555

Conventional source
rolParahE S5

Non-Conventional source

earoRNmrahl S5k
3.

Exhaustible
DS EOADH
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The primary agenda of the Kyoto protocol is ...........
850 (eSS |55 eBEone
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Regulation of hazardous wastes
35065 oo EHofEbohe

1.%
Regulate the production of nuclear energy
e 68aD [BHodEBohe
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Control anthropogenic sources of greenhouse gases
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None of the above
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The oldest University in India
zoBaSrE® Hoees D& Dorgedho
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Nalanda
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oyt
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Takshashila

5580
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The concept of Meta University was adopted by ...............
oty éjrﬁoﬁtjgjmgﬁcﬁﬁo rameD Sarabodnd

Options :

Osmania University

1% &ﬁt@g_‘adﬁ}v D& Do

Delhi University
ah A Doegecho
2,0 W

University of Hyderabad
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Jawaharlal Nehru University
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Which of the following 1s related to the New Education Policy 20207
& oipd A BE Dy derido 2020 8 Sowoodke

Options :

Kasturirangan Commission
£5m8 SoKS EEn8S

Kothar:1 Commission
o Eaks

Indian Planning Commission
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Rammurthy Commission
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Value Education takes place only at ..........
Dend) D5y etrHas

Options :

School
o8

1. %

Voluntary Youth Organizations
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Oftender mstitutions
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All of the above
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Which is the nodal agency for United Nations Environment
Programme (UNEP) in India?
so8dirs” 3B Ji) Sogsten SeliEE Y §ué dady 26 ?
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Ministry of Education
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Ministry of External Affairs

5 % eavéwﬂ ;':15 Fore ﬁ]@@éﬂg o

Ministry of Health and Family Welfare
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Ministry of Environment, Forest and Climate Change
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Which of the following is not an attribute of the umiverse of knowledge?

Options:

Dynamic

Ever expanding



3 Finite

4. % Coherent
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The book selection principle ‘“The best reading for the largest number at the least cost’
was enunciated by:

Options :

F. K. W. Dmury

Lionel McColvin

3 & SR Ranganathan

Melwvil Dewev
. 3
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Zero Based Budgeting was developed by:

Options :
John Dewey

1. %

Peter Pyhir
2. %

3 % Robert McNamara

o Philip Crosby
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The prineiple “span of control” enunciated by Henri Fayol refers to:

Options :

" The number of subordinates under the control of a supervisor
’l . .

5> % People controlled by Management by Objectives

The number of managers in an organization
3 %



The ratio of Directors to Managers
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According to the Indian Copyright law. copyright granted for a broadcast is for:
Options:

1. % Sixty years

Fitfty years

2. %
Twenty five yvears
3. ¢ FSE
Twenty vears
4. %
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A file. either on cards or in machine-readable format. 1n which decisions involving
bibliographic records are recorded to establish a precedent or rule for subsequent
decisions and to provide for consistency of entries in a library 1s called as:



Options :

Catalogue entry

5 & Authority file

Bibliographic record

Metadata
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In a vocabulary control tool like subject headings list or thesaurus, BT stands for:

Options:

s

1.4 Ellpﬁl’ﬂl'dlllﬁtﬁ erm

Subordinate term

Eelated term

Used for term
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The assumption that “There is no relationship between taking an aspirin a day and the
risk of heart attack” 15 an example of:

Options :

1 % Alternate hypothesis

5 Null hypothesis

Simple hypothesis

o Directional hypothesis
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Experts or living sources of information belong to the category of:
Options :

Documenta I'y sOUrces



2 % Secondary sources

5 Formal sources

3.

NGH-CED Clment ':.":1'}-’ SOUICes
4.
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Description of the book that appears on the front inner flap of the book jacket of the same
book 1s called as:

Options :
1. % Review

> % Criticism

Blurb
3.¢

Imprint
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Examine the following statements about Denis Grogan and 1dentify the correct ones.

1. He categorized information need into current, every day, and exhaustive approaches.
i1. He authored the book ‘Science and Technology: An Introduction to the Literature’.
1. He divided documentary sources of information into primary. secondary and tertiary.
iv. He divided documentary sources of information into primary and secondary,

Options :

| % Only 1 and 11 are correct

> Only 11 and 111 are correct

3 % Only 111 and 1v are correct

Only 1 and 1v are correct
4, %
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Match the following:

List 1 List 2
1. Motivator-Hygiene Theory a. Abraham Maslow
2.POSDCORB b. Peter Drucker
3. Hierarchy of Human Needs c. Frederick Herzberg
4. MbO d. Luther Gulick and Lyndall Urvick

Options:



1-c, 2-d. 3-a. 4-b

1.4

> % 1-b. 2-c. 3-d. 4-a
1-d, 2-¢. 3-a. 4-b

3. %

1-b, 2-a, 3-d, 4-c

Question Number : 63 Question Id : 27028216702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Committees related to libraries and Library Science Education
India m the chronological order of their appointment,

1. K. P. Smha Commuttes

i1. Review Committee on Library Science Education

i1, Curriculum Development Committee (Chairman: P. N. Kaula)

. D. P. Chattopadhaya Committee

Options:

o1 Lo v
1. %
5 o L1V, 1

, 11,11, 1V,1
3 %



v, 111, 11, 1
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Which of the following activities are related to INFLIBNET?
1. CALIBER

1. NACLIN

11. E-Granthalaya

1v. e-ShodhSindhu

Options:

1 % Ounly 1 and 11 are related.

Only 11 and 11 are related
2. %

3 % Only iii and iv are related

Only 1 and 1v are related.
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Match the following.

List 1 List 2
1. World of Learning a. Encyclopedia
2. Guinness Book of Records b. Yearbook
3. The Wealth of India ¢. Directory
4. India; Reference Annual d. Handbook
Options :

1@ 1-¢, 2-d. 3-a.4.b

9 % 1-b. 2-a3. 3-d. 4-c

3 % 1-b. 2-c. 3-a. 4-d

1-d. 2-c. 3-a. 4-b
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Assertion (A): S. R. Ranganathan was closely associated with ILA from its very
meeption.
Reason (R): He was the first president of ILA.

Options:

1% (A) 1s true and (R) also 1s true,

2 (A) 1s true and (R) 1s false.



3 % (A) is false but (R) is true.

4 % (A) 1s false and (R) also 1s false.
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Assertion (A): User education 1s very much essential for libraries urespective of their
type.
Reason (R): User education increases the use of library facilities and services.

Options :

(A) 1s true and (R) 1s also true
1. %

(A) 1s true but (R) 1s false.

3 % (A) 1s false but (R) 1s true.

4% (A) 1s false and (R) also 1s false.
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The protocols HTTP. TCP. UDP and IRC fall under the category of:

Options :

1. % Network control protocols

Network management protocols
2. %

Network communication protocols
3. %

4 % Network security protocols
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Which of the following 1s a high-level. interpreted. mnteractive and object-oriented
seripting language?

Options :

1. ¢ Python

2 % Foxpro

Visual Basic
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The materials covered by Digital Object Identifier (DOI) are:

Options :

1« Texts. images. audio-visual materials in digital form

Books and journals in physical form

2. %

All sources 1n science and technology in digital form
3. %

All information available in the Internet
4. %

Question Number : 71 Question Id : 27028216710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



The index which can be effectively used for retrieval of information in a specific subject
even with minimum subject knowledge 1s:

Options :

1 % Chain index

, % POPSI

PRECIS

Citation index

Question Number : 72 Question Id : 27028216711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Primary sources provide reliable and firsthand information.
Reason (R): Compared to secondary sources primary sources are not organized.

Options :

Both (A) and (R) are true
1. %

(A) 1= false but (R) is true
2. %

3 % (A) 1s true but (R) 1s false.



Both (A) and (R) are false.

Question Number : 73 Question Id : 27028216712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following principles are corollary to Wall-picture prineiple?

(1) Cow-calf principle

(1) Principle of later-in-time

(111) Whole-organ principle
(1v) All of the above

Options :

(1) and (11) are correct

(11) and (111) are correct

2. %

(1) and (111) are correct
3.4

(1) and (1v) are correct
4. %

Question Number : 74 Question Id : 27028216713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No



Correct Marks : 2 Wrong Marks : 0

Match the following:

List 1 List 2
1. Library location a. Fourth law
2. Obligation of the state b. Fifth law
Choice of type of catalogue c. Second law
4. Shelf arrangement. guiding d. First law
Options :
l-c. 2-d. 3-a, 4-b
1. %

1-d, 2-c, 3-b, 4-a
2. ¥

1-b, 2-c. 3-d. 4-a

4 % 1-b. 2-d. 3-a. 4-¢

Question Number : 75 Question Id : 27028216714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0
The pioneer in information retrieval experiments is:

Options :

w Derek Austin

> % F.W. Lancaster



3 % G. Salton

C. W. Cleverdon
4.

Question Number : 76 Question Id : 27028216715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The concept of thesaurofacet was put forward by:

Options :

1 % G- Bhattacharya

A. Neelameghan
2. %

Tean Aitchi
3 ean Aitchison

S. R. Ranganathan

Question Number : 77 Question Id : 27028216716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

S. R. Ranganathan uses the terms ‘turbulent ever-growing dynamic continuum’ to
describe:

Options :

Library classification

1.

2 % Library catalogue

3 Universe of knowledge
4 % Libraries

Question Number : 78 Question Id : 27028216717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Assertion (A): Information Literacy is aimed at maximizing the use of the library.
Reason (R): In an academic library. participation with the faculty members 1s essential
for imparting information literacy.

Options:

| % (A) 1s true and (R) also 1s true

5 (A) is true and (R) is false



(A) 1s false but (R) 15 true.

(A) 1s false and (R) also 1s false.

Question Number : 79 Question Id : 27028216718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Z39.50 standard protocol was developed by:

Options :

OCLC

, x ISO

5 « NISO

Library of Congress

Question Number : 80 Question Id : 27028216719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

The expansion of MICR. the technology used to verify the onginality of documents. 1s:

Options:

1« Magnetic Ink Character Recognition

Machine Ink Character Recognition

3 % Manual Impression Character Reader

Machine Impression Character Reader

Question Number : 81 Question Id : 27028216720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The provider of authoritative books and journals in humanities and social sciences from
world’s most distinguished university presses and scholarly societies is:

Options :

Bentham Open
1. %

oject v
5 Project Muse

3 % Project Gutenberg



4 % Hathi Trust

Question Number : 82 Question Id : 27028216721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Examine statements about stock verification from the following and identify the correct
ones:

i. Stock verification helps 1n the identification of missing documents,
i. It helps in estimating the extent of loss of documents,

iii. It enables the easy calculation of overdue charges.

iv. It results 1 the cleanimg of the shelves,

Options :

(1). (1) and (111) are true

1. %

(11). (111) and (1v) are true

(1). (11) and (1v) are true
3.¢

(111), (1v) and (1) are true
4. %

Question Number : 83 Question Id : 27028216722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

Match the following:

List 1
1. Data
2. Information
. Knowledge

L]

Options:

1-¢c. 2-b. 3-a
1. %

5 % 1-c. 2-a, 3-b

1.b. 2-a. 3-¢

Question Number : 84 Question Id : 27028216723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

List 2

a. Cloth
b. Cotton
c. Yarn

Correct Marks : 2 Wrong Marks : 0

Identify the primary sources used for writing literature review of theses from the

followmng:

1. Bibliographic databases
1. Abstracting periodicals

11, Journals
1v. Reports

Options :

1.



g 111, and i1

5 % liinandiv

111 and 1v
3. % g

4. % All of the above

Question Number : 85 Question Id : 27028216724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

An alphabetical list of the words present in a text. usually with citations of the passages
in which they are found 1s called:

Options:

Concordance
1.4

Thesaurus

Glossary
3. %

Prescriptive dictionary



Question Number : 86 Question Id : 27028216725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The expansion of the acronym APUPA pattern enunciated by S. R. Ranganathan 1s:

Options :

Ambral. Penambral. Umbral. Penambral and Alien

Alien. Penumbral, Umbral. Penumbral and Alien

Alien. Penambral. Umbral. Penambral and Ambral

Ambrel. Penumbrel. Umbrel. Penumbral and Alien

Question Number : 87 Question Id : 27028216726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Which of the following 1s not a component of an expert system?

Options :

Knowledge base



Inference engine

User interface

Decision support
4.v i

Question Number : 88 Question Id : 27028216727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Table of Contents Service and routing of periodicals among members come under the
purview of which of the following service?

Options :

Reference service

1.
5 % Selective Dissemination of Information service
3 Current Awareness Service

Extension service



Question Number : 89 Question Id : 27028216728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
In information retrieval process from an indexing system. when the precision increases:
Options :

1. % Recall mereases

Recall decreases

3. # More documents will be retrieved

4. ¥ More irrelevant documents will be retrieved

Question Number : 90 Question Id : 27028216729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The correct chronological order of the following education commissions in India 1s:
1. Kothart Commission

11. Mudaliar commission

111, Radhakrishnan Commission

1v. Hunter Commuission

Options :



1. i1, 1v and 111

1. 11, 1v and 1
2 %

3 % 111, 1v. I and 11

4. &

Question Number : 91 Question Id : 27028216730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Match the following:

List 1 List 2
1. Aslib-Cranfield studies a. U.S. National Institute of Standards and
Technology

2. Evaluation of MEDLARS b. Gerard Salton
3. Text Retrieval Conference c. C. W. Cleverdon
4, SMART d. F. W. Lancaster
Options :

1-c. 2-d. 3-a. 4-b
1.4

1-b. 2-c. 3-a. 4-d
2. ®

1-d, 2-c. 3-a. 4-b



1-b, 2-d, 3-a, 4-c
4. %

Question Number : 92 Question Id : 27028216731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): A subject thesaurus uses controlled vocabulary as descriptors.
Reason (R): It provides different relationships among terms.

Options :

Both (A) and (R) are true

(A) 1s false (R) 1s true

(A) 1s true but (R) 1s false.
3. %

(A) 1s false (R) 1s also false

Question Number : 93 Question Id : 27028216732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



The four levels of representation in the Group 1 entities of FRBR model are:
Options :

1 % Discipline. Entity. Action. Matter

Personality. Matter, Energy. Space

2 %
3 % Form. Type. Item. Availability

P Work. Expression. Manifestation, Item
4. %

Question Number : 94 Question Id : 27028216733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following data model for bibliographic description was designed to replace
MARC standards and to use linked data principles?

Options :

UNIMARC
1. %

Z239.50

3 % CCF



BIBFRAME

Question Number : 95 Question Id : 27028216734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0
Identify the statement(s) about peer review process which 1s/are not correct.
1. Peer review acts as a filter to ensure that only high quality research 1s published.
1. Peer Review improves the quality of manuscripts.

1. Peer review leads to acceptance of even low quality papers.
1v. Peer review 1s still considered as a reliable method by publishers.

Options:

1 % 1andiiare not correct

11 and 111 are not correct

3 ¢ 111 alone 1s not correct

1v alone 1s not correct

Question Number : 96 Question Id : 27028216735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

The adaptive rehabilitative devices, products, or equipment used for helping people with
disabilities in libraries are collectively called:

Options:

Productive technologies

> % Constructive technologies

Assistive technologies

Recuperative technologies

Question Number : 97 Question Id : 27028216736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

EZProxy. the remote access solution for library databases, 1s a product owned by:
Options:

1. % Clarivate Analytics

OCLC

3 % Library of Congress



ProQuest

Question Number : 98 Question Id : 27028216737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The postulate that “Information is data of value in decision making™ was proposed by:

Options :

Whittemore and Yovits

Shannon and Weaver

3 % Osgood and Schramm

Bradford and Zipf

Question Number : 99 Question Id : 27028216738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

Assertion (A): An indexing language 1s much more than a list of index terms acceptable
to the users.
Reason (R): An indexing language helps users to distinguish between terms and thereby
reduces ambiguity.

Options :

Both (A) and (R) are true

Both (A) and (R) are false
2. %

3 = (A) 1s true but (R) 1is false.

4 % (A) 1s false but (R) 1s true.

Question Number : 100 Question Id : 27028216739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in the research design in the correct sequential order.
1. Hypothesis formulation

1. Literature review

1. Analysis of data

1v. Data collection

Options :

1 % 1. 1. 1v and 111

1, 11, 1v and 1
2 %



11, 1v. 1 and 11

11. 1. 1v and 11
4.+ )

Question Number : 101 Question Id : 27028216740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
The major parts of a CCF record are:
Options :

1. % Leader, Directory. Variable control fields. variable data fields

> « Record label. Directory. Data fields and Record separator

3 % Leader. Directory. Fixed control fields and variable data fields

Record label. Directory, Control fields and Data fields

Question Number : 102 Question Id : 27028216741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

Match the following.

List 1 List 2
1. Browser a. MS Access
2.  Search engine b. Algol
3. Programming language c. Opera
4.  Application programme d. Bing
Options :

1. % 1-d. 2-a. 3-b. 4-c

1-b, 2-¢. 3-d. 4-a
®

1-c, 2-d, 3-b, 4-a
g

1-b. 2-d. 3-a. 4-c

Question Number : 103 Question Id : 27028216742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Training methods through brainstorming stimulate generation of fresh
1deas.
Reason (R): Training methods are unsuitable for upskilling of unskilled labourers.

Options :

_— Both (A) and (R) are true.



(A) 1s true but (R) 1s false.

2. %

3 (A) 1s false but (R) 1s true.
Both (A) and (R) are false.

4, %

Question Number : 104 Question Id : 27028216743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The equation ‘Motivation = Valence x Expectancy x Instrumentality’ as a part of
motivation theory was put forward by:

Options :
Frederick Herzberg

1. %

Douglas McGregor

2 ®
Victor Vroom
3.¢
Abraham Maslow
4. %

Question Number : 105 Question Id : 27028216744 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Periodical evaluation of an emplovee 1s carried out by:

Options :

Job analysis
1. %

Induction

Job rotation

Performance appraisal
4.

Question Number : 106 Question Id : 27028216745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Match the following:

List 1 List 2
1.  Ibid a. In the work cited earlier
2. Op.eit b. see
3. Vide ¢. 1n the place cited
4. Loc.cit d. in the same place

Options :



1@ 1-d. 2-a. 3-b. 4-¢

1-c, 2-a. 3-d. 4-b

2. %
3 % 1-d. 2-¢c. 3-a. 4-b
4 % 1-d, 2-¢. 3-b, 4-a

Question Number : 107 Question Id : 27028216746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Which of the following 1s the first intellectual property treaty at the international level?
Options:

Berne Convention for the Protection of Literary and Artistic Works
1. %

Rome Convention
2. %

Paris Convention for the Protection of Industrial Property
3.¢

Patent Cooperation Treaty
4, %



Question Number : 108 Question Id : 27028216747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The ‘Mimimum, Middling and Maximum Theory” of reference service was put forward

by:

Options :

C. M. Winchell

S. R. Ranganathan

James I. Wyer

Samuel Rothstein

Question Number : 109 Question Id : 27028216748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The concept of technological gatekeeper was introduced by:

Options :



T. J. Allen

Derek J. de Solla Price

Eugene Garfield

B. C. Brookes

Question Number : 110 Question Id : 27028216749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Match the following:

List1 List 2
1. Elton Mayo a. Quality management
2. Ludwig von Bertalanfty b. Theory X and Theory Y
3. Philip Crosby c. Hawthorne Studies
4. Douglas MeGregor d. Systems theory
Options:
1 % 1-b. 2-¢c. 3-d. 4-a
- ﬁ- - o
5 & 1-c. 2-d. 3-a. 4-b

1-c, 2-d, 3-a, 4-b
3. ¢



1-b, 2-c, 3-d, 4-a

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Question Number : 111 Question Id : 27028216750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): A name authority file is an essential tool in a library.
Reason (R): In a library. there 1s the need to collocate all the works of an author.

Options :
Both (A) and (R) are correct

1. ¢

Both (A) and (R) are wrong

(A) 1s correct but (R) is wrong.

(A) 1s wrong but (R) 1s correct.

Question Number : 112 Question Id : 27028216751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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From the following, identify the tool which is able to provide a single mterface to
seamlessly integrate results from a wide range of online sources, like a Google like

search experience.

Options :

OPACs
1. %

5 % WebOPACs

3 % DBrowsers

Webscale discovery services
4,
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Image Recognition, Speech Recognition. Self-driving cars, Chatbots etc. are the
contributions of:

Options :

Block chain technology

Machine Learning and Artificial Intelligence



3 % Virtual Reality and Augmented Reality

3-D Printing

Question Number : 114 Question Id : 27028216753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Examimne the following statements about semantic web and 1dentify the correct ones.

1. The Semantic Web 1s not an extension of the current Web.

1. The ultimate ambition of the Semantic Web 15 to enable computers to better
manipulate information on behalf of the user.

u1. Semantic web is based on the use of RDF, which integrates a variety of applications
by using XML, for syntax and use of URLs for identification.

iv. Ontologies and URLs are associated with semantic web.

Options:

1. 11 and 111 are correct

1. 111 and 1v are correct

3. % 1. 11 and 1v are correct

1. 111 and 1v are correct
4. &
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Correlational research study that nvolves looking at variables over an extended period of
time 1s designated as:

Options :

1. % Casestudy

Historical study
2 %

3«  Longitudinal study

Cross-sectional study
4. %
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Albert Humphrey 1s associated with which of the following technique?
Options :

SWOT Analysis
1.9



PEST Analysis

2. %

3 % PERT
MIS

4. %
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The “Delivery of Books (Public Libraries) Act™ in India was amended m 1956 which
made a change in the title of the Act. What 1s the changed title?

Options :

. Delivery of Books Act (Public Libraries). 1956

Delivery of Newspapers and Books (Public Libraries) Act. 1956

Delivery of Books and Newspapers Act (Public Libraries), 1954

Delivery of Books and Newspapers (Public Libraries) Act. 1956
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What will be the Man Entry heading of a learned periodical, according to the AACR2?
Options :

Title

> % Name of editor

Name of sponsoring body
- g

Name of publisher
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UNIMARC bibliographic format was brought out by:

Options :

Unesco
1. %



UNISIST

2. %
3 v IFLA

OCLC
4. ®
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Metadata that describe the asset. such as the asset’s title, author, and relevant keywords
are called:

Options :

1 % Administrative metadata
Descriptive metadata

2. ¥

Technical metadata

4 % Structural metadata
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Who among the following 1s not a Classificationist?
Options :

Berwick Savers
1.4

9 % Paul Otlet

3. % JI.D. Brown

Fremont Rider
4. %
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Assertion (A): Newark Charging System is simple to operate than Browne Charging
System.
Reason (R): Because of its simplicity, it 15 more popular than Browne System.

Options:

Both (A) and (R) are correct

(A) 1s wrong but (R) is correct



(A) 1s correct but (R) 1s wrong.

4. Both (A) and (R) are wrong.
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Which of the following methods are used for offering information literacy programmes

for users?

1. Online course

. Standalone course on Information Literacy

i1, Internship programmes

iv. Information Literacy integrated with curriculum

Options :

1 % 1and 11

1. 11 and 111

2. %

1. 11 and 1v
3.¢

1. 111 and 1v
4. %
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In library classification. the Principle of Later n Evolution 1s suitable for arrangement of
which of the following?

Options :

1 % Generations of computers

5 % Political parties in a country

3. % Religions of the world

All the above
W
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Which of the following books by S. R. Ranganathan contains a comprehensive treatment
of the Dynamic Theory propounded by him?

Options :

Colon Classification

Prolegomena to Library Classification
2.



3 % A Descriptive Account of Colon Classification

Elements of Library Classification
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The LOCKSS project, a peer-to-peer network that develops and supports an open source
system allowing libraries to collect. preserve and provide their readers with access to
material published on the Web 1s developed and maintained by:

Options :

Stanford University

Harvard University

2. %

Massachusetts Institute of Technology

Princeton University
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Match the following:

List 1 List 2
1. Bibliographic coupling a. Clarivate
2. Cocitation b. Leo Egghe
3. G-index c. M. M. Kessler
4. TImpact factor d. Henry G. Small
Options :
1% 1-b. 2-¢c. 3-a. 4-d
e, 2-d. 3-b. 4
> o l-c. 2-d. 3-b. 4-a
3 % 1-d.2-c.3-a.4-b
1-b. 2-¢c. 3-d. 4-a
4. =
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The metadata standard MODS stands for:
Options :

s Metadata Object Designation Standard



Metadata Object Description Standard

Metadata Object Description Schema
3.¢¥

Metadata Object Deployment Schema
4, =

Question Number : 129 Question Id : 27028216768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The term ‘Cyberspace’ was first used by:
Options:

1.« William Gibson

Andrew Pollock

John Postal

Joe Flower
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Which of the following statement(s) 1s/are true for Reference sources?
1. Reference sources are prepared in order to locate information easily.
1. Reference sources are meant for continuous reading.

11. Reference sources are not normally 1ssued out from the library.

1v. Compared to general sources, reference sources are cheap.

Options :

1 % Only 1 and 11 are true.

5 % Only 11 and 111 are true,

Only 111 and 1v are true.

Only 1 and 111 are true
4. v
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The Agency which published Open Systems Interconnection (OSI) Model in 1984 was:
Options :

1 % British Standards Institution



5 % American National Standards Institute

Bureau of Indian Standards
3. %

International Organization for Standardization
4.
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Match the following webscale discovery services with their producers.

List 1 List 2
1. Summon a. Ex-Libris
2. EDS b. ProQuest
3. Primo Central ¢c. OCLC
4. WorldCat d. Ebsco
Options :

1. % 1-b. 2-c. 3-d. 4-a

2 % l-c, 2-d. 3-a. 4-b

3. 1-b, 2-d. 3-a, 4-c

4 % 1-d, 2-c. 3-b. 4-a
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From the list of bibliographies. identify the trade bibliographies.
1. INB

11. BNB

11. Books in Print

1v. Indian Books 1 Print

Options :

1 % 1 and 11 are correct

> % 11 and 111 are correct

111 and 1v are correct

1 and 1v are correct
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Place of birth. gender. ethnic group. car brands and marital status are examples of which
of the following scale of measurement?

Options :

1.+« Nominal



> % Ordinal

3. ¥ Interval

Ratio
4. %
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Which of the following source contains reliable latest official information about India?
Options:

Gazetteer of India

Yearbook of the Reserve Bank of India

3 % Handbook of India

India: Reference Annual
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The publishing arm of Chartered Institute of Library and Information Professionals
(CILIP) 1s:

Options :

1. % Springer Verlag

De Gruyter

Facet publishing
3.¥

ATLA Publishing
4. %
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Match the following:

List1 List 2
1. Towards paperless information system a. De Sella Price
2. Little Science and Big Science b. J.D. Brown
3. Manual of Library Economy ¢. F.W. Lancaster
4. Essays of an Information Scientist d. Eugene Gartfield
Options :

1-b, 2-d 3-a. 4-c
E



> % 1-d, 2-¢. 3-a. 4-b

1-c, 2-a, 3-b. 4-d
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Examine the following statements about the use of RFID technology m libraries and
identify the correct ones.

1. It improves the speed and accuracy of circulation functions.

1. It 1s helpful in stock taking.

1. It 1s helpful in protecting a library’s collection.

iv. It can be used for offering virtual reference services.

Options:

1 % Onlyiand ii are correct.

) Only 1. 11 and 111 are correct.

4. % All are correct.



Question Number : 139 Question Id : 27028216778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Identify the technology which 1s not related to Semantic web?

Options:

RDF

1. %

5 % Ontologies

OWL

Cloning
4. &
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The term hypertext was coined by:
Options :

1. Ted Nelson



Vannevar Bush

Vint Cerf

“ William Gibson
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Choose the open source library management software from the following.
Options :

1@ New Gen Lib

VTLS

3 % Lib Sys

4. % SOUL
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Which of the following 1s an alternate term for folksonomy?

Options :

1 % Taxonomy

> Social tagging

3. % Web 3.0

Ontology

Question Number : 143 Question Id : 27028216782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Total quality management (TQM) 1s an ongoing process of detecting and
reducing or eliminating errors.
Reason (R): Total quality management is not practicable in libraries since they are not
profit-making institutions.

Options :

Both (A) and (R) are true

5 % Both (A) and (R) are false.



3 ¢ (A) 15 true but (R) is false.

W

4 % (A) 1s false but (R) 1s true.

Question Number : 144 Question Id : 27028216783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
In social science research, the variables like age. income and gender are the examples of:
Options:

1 % Dependent variables

Independent variables
2. %

Intervening variables

Categorical variables
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RRRIF does not provide assistance to which of the following?

Options :

1. % Assistance towards building up of adequate stock of books and reading materials

> % Assistance towards Organization of Seminars. Workshops. and Training Courses

Assistance towards Inereasing Accommodation

3. %

Assistance towards salary of the library staff
4. ¢
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Read the passage given below and answer the questions 96 to 100.

Libraries have experienced dramatic changes in the last several years as a result of
COVID and other external foreces. As librarians look ahead to the future, here are a few
key trends that will shape their needs going forward. The shift to digital services and
delivery models is enhancing access but creating new challenges for libraries. The
emergence of COVID-19 has greatly accelerated this trend. while also demonstrating
the value in transitioning from print to digital resources. Accessing content and services
digitally is more convenient for many patrons. and the shift toward digital delivery is
likely to continue as libraries look toward the future. Yet. navigating the complex
licensing (and tricky economics) of acquiring electronic content and digitizing existing
materials 1sn’t easy.

For instance. libraries need an easy way to administer different licensing agreements
and lending policies for various publishers and e-books. If they digitize their print
collections. they'll need a way to limit the lending of digital files according to best
practices in controlled digital lending (CDL) to avoid running afoul of copyright
restrictions. Having the right technologies in place allows libraries to manage these
complex processes effectively.

Rising expectations are prompting libraries to improve the patron experience. Today's
customers expect more personalized and immediate service than ever before.
Consumers’ rising expectations are influencing how patrons want to be able to interact
with library services as well. The shift to digital services and delivery models is one
way that libraries are responding to changing expectations among patrons. But libraries
are also looking for other ways to improve the experience for their users. such as by
making it easier to find and check out materials that match users” needs and interests.

Users want to be able to find what they need quickly and easily from whatever
environment they are using., whether that’s a mobile device or even a learning
management system if they’re enrolled in a course. Users also want to receive services
in the format of their choice. The digital platforms that libraries use to manage their
operations must be able to support these capabilities.

As librarians are increasingly asked to do more with less. automation will play a key
role in helping them achieve this goal. Streamlining workflows using automation and
artificial intelligence isn’t just a cost-saving measure: it can also free up librarians to
spend more time interacting with patrons and providing other services that demonstrate
real value to stakeholders. The right technologies can also help librarians make better
decisions about where to spend their limited resources, so they get the most impact from
their investment. For instance. instead of acquiring books or digital materials that are
likely to have a very narrow appeal. would it make more sense to partner with other
libraries through a resource-sharing network?

The use of a platform with built-in analytics can help librarians make smarter decisions
when evaluating purchases or assessing the impact of programs and services. so they
can serve the needs of stakeholders more effectively. The right digital platform can
accelerate innovation and keep libraries one step ahead of whatever challenges the
future might hold.

Sub questions
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Which of the following factor poses a problem in acquiring digital content?
Options :

1 % Emergence of COVID-19

5 o Complex licensing policies

3 % Lack of preparedness of the patrons

4 % Inconvenience in using digital resources.

Question Number : 147 Question Id : 27028216787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The major hurdle in making available the digitized content of printed materials in the
library 1s:

Options:
Copyright restrictions in lending digitized materials

1.4

5 % Absence of right technologies

Changing expectations among patrons
3. %



Change 1n delivery models

Question Number : 148 Question Id : 27028216788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

What are the expectations of the library users in the modern environment?
Options :

1 % Users want to be able to find what they need quickly and easily

Users want to receive services in the format of their choice

Users expect the libraries to make use of appropriate technologies for the quick
3. % use of services

All of the above
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According to the passage. identify the correct statements from the following.

1. Automation will play a key role in helping librarians to do more with less expenditure.

il. Automation can free up librarians to spend more time to interact with patrons.

i11. Automation will enable librarians to acquire all printed and digital materials.

iv. Automation will enable librarians to partner with other libraries through resource-
sharing network.

Options :

1. 11 and 111 are correct

1. %

5> 1. 11 and 1v are correct
3 % 1. 111 and 1v are correct
4% i.1i.1iand iv
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Which of the following 1s not an advantage of using a digital platform with built-in

analytics?

Options :

_— It can help librarians make smarter decisions.

It enables the evaluation of purchases or assessment of the impact of programs
2 % and services.



It can decelerate innovation.

4 % It helps libraries keep one step ahead of challenges of the tuture.



